
 

 

November 2017:  PaETS – Module Four:  Income 
Q190 – Q210 
 

From population Question/Field To question: 

SG045 = 2 
Q135 = 5 
Q140 = 1 
Q159 = 5 
Q164 = 1 
SG056 = 2 
Q183 = 1 to 7 
Q184 

Q190 
The ABS collects data on personal and 
household income to determine how income and 
other social issues impact on each other. The 
next few questions are about your income. 
 
Could you please tell me if you currently receive 
income from any of these sources? 
 
NOTE: Running prompt question. 
Read out all categories 1–8, if ‘no’ to all then 
enter Code ‘9‘. 
Multiple responses allowed. Press space bar 
between responses. 
 
1. Wages or salary (including earnings from 

own incorporated business) 
2. Profit or loss from own (unincorporated) 

business or share in a partnership 
3. Paid Parental Leave (PPL) scheme (only 

display if Q044 = 1) 
4. Newborn Upfront Payment and Newborn 

Supplement (only display if Q046 = 1)  
5. Any other Government pension, benefit or 

allowance 
6. Dividends or interest 
7. Child support or maintenance 
8. Any other regular source 
9. None of the above 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 








1. – 8. EDIT Q192  
9. EDIT SG062 
(Single response) 

Q190= 1 to 8 Q192 
Before tax, salary sacrifice or anything else is 
taken out, how much do you currently receive 
from [all of these/this] [source/sources]? 
 
Ctrl R may be entered here if necessary. 
 
1. Enter amount (numeric entry 1 – 999999) 
2. Nil 
3. Loss 

 
 
 
 
 
 
 
 
Q193 
Ctrl R SG061 

Q192 Q193 
What period does that cover? 
 
1. Weekly 
2. Fortnightly 
3. Four weekly 
4. Monthly 
5. Quarterly 
6. Yearly 
7. Varies (text string 300 characters) 
8. Other (text string 300 characters) 

 
 
 
 
 
 
 
 
 
 
 SG061 



 

 

Q192 = Crtl R 
Q193 

SG061 
 
1. If Q190 single response (1. to 8.) and no 

other members on HH form >= 15 years 
2. If Q190 single response (1. to 8.) 
3. Otherwise 

 
 
1.  (No more 
questions) 
2.  SG062 
3.  Q194 

SG061 = 3 Q194 
What is your current main source of income? 
 
NOTE: If only 1 source of income reported at 
Q190, roll forward this value to Q194 
 
Show only selected categories from Q190 

 
1. Wages or salary (including earnings from 

own incorporated business) 
2. Profit or loss from own (unincorporated) 

business or share in a partnership 
3. Paid Parental Leave (PPL) scheme 
4. Newborn Upfront Payment and Newborn 

Supplement 
5. Any other Government pension, benefit or 

allowance 
6. Dividends or interest 
7. Child support or maintenance 
8. Any other regular source 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
SG062 

Q190 = 9 
SG061 = 2 
Q194 

SG062 
 
1. If no other members on HH form >= 15 years 
2. If Q135 answered 
3. Otherwise 

 
 
1.  (No more 
questions) 
2.  Q195 
3.  SG065 



 

 

SG062 = 2 Q195 
Could you please tell me if [partner’s name] 
currently receives income from any of these 
sources? 
 
NOTE: Running prompt question. 
Read out all categories 1–8, if ‘no’ to all then 
enter Code ‘9‘. 
Multiple responses allowed. Press space bar 
between responses. 
 
1. Wages or salary (including earnings from 

own incorporated business) 
2. Profit or loss from own (unincorporated) 

business or share in a partnership 
3. Paid Parental Leave (PPL) scheme (only 

show if not selected in Q190 AND Q044 = 1) 
4. Newborn Upfront Payment and Newborn 

Supplement (only show if not selected in 
Q190 AND Q046 = 1) 

5. Any other Government pension, benefit or 
allowance  

6. Dividends or interest 
7. Child support or maintenance 
8. Any other regular source 
9. None of the above 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 












1. – 8.  EDIT Q196  
9. EDIT SG065 
(Single response) 

Q195 = 1 to 8 Q196 
Before tax, salary sacrifice or anything else is 
taken out, how much does [partner’s name] 
currently receive from [all of these/this] 
[source/sources]? 
 
Ctrl R may be entered here if necessary. 
 
1. Enter amount (numeric entry 1 – 999999) 
2. Nil 
3. Loss 

 
 
 
 
 
 
 
 
 
Q197 
Ctrl R SG063 

Q196 Q197 
What period does that cover? 
 
1. Weekly 
2. Fortnightly 
3. Four weekly 
4. Monthly 
5. Quarterly 
6. Yearly 
7. Varies (text string 300 characters) 
8. Other (text string 300 characters) 

 
 
 
 
 
 
 
 
 
 
 SG063 

Q196 =  Crtl R 
Q197 

SG063 
 
1. If single response to Q190 = single response 

to Q195 AND no other members on HH form 
>= 15 years 

2. If Q195 single response (1. to 8.) 
3. Otherwise 

 
 
1.  (No more 
questions) 
 
2.  SG065 
3.  Q198 



 

 

SG063 = 3 Q198 
What is [partner’s name]’s current main source of 
income? 
 
NOTE: If only 1 source of income reported at 
Q195, roll forward this value to Q198 
 
Show only selected categories from Q190 
 
1. Wages or salary (including earnings from 

own incorporated business) 
2. Profit or loss from own (unincorporated) 

business or share in a partnership 
3. Paid Parental Leave (PPL) scheme 
4. Newborn Upfront Payment and Newborn 

Supplement 
5. Any other Government pension, benefit or 

allowance 
6. Dividends or interest 
7. Child support or maintenance 
8. Any other regular source 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
SG065 

SG062 = 3 
Q195 = 9 
SG063 = 2 
Q198 

SG065 
 
1. If response to Q194 = Response to Q198 

AND no other members on HH form (Other 
than woman partner) >= 15 years 

2. If no other members on HH form (other than 
woman and partner) and (Q194 ne Q198) 

3. Otherwise 

 
 
1.  (No more 
questions) 
 
2.  Q203 
 
3.  Q200 



 

 

SG065 = 3 Q200 
The next few questions are about the income of 
[all other] members of your household aged 15 
years and over, excluding [partner’s name and] 
yourself. 
 
Could you please tell me if these people currently 
receive income from any of these sources? 
 
NOTE: Running prompt question. 
Read out all categories 1–8, if ‘no’ to all then 
enter Code ‘9‘. 
Multiple responses allowed. Press space bar 
between responses. 
 
1. Wages or salary (including earnings from 

own incorporated business) 
2. Profit or loss from own (unincorporated) 

business or share in a partnership 
3. Paid Parental Leave (PPL) scheme (only 

show if not selected in (Q190 OR Q195) AND 
Q044 = 1) 

4. Newborn Upfront Payment and Newborn 
Supplement (only show if not selected in 
(Q190 OR Q195) AND Q046 = 1) 

5. Any other Government pension, benefit or 
allowance 

6. Dividends or interest 
7. Child support or maintenance 
8. Any other regular source 
9. None of the above 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 














1. – 8. EDIT Q201  
9. EDIT Q203 (Single 
response) 

Q200 = 1 to 8 Q201 
Before tax, salary sacrifice or anything else is 
taken out, how much income in total do these 
people currently receive from all sources? 
 
Ctrl R may be entered here if necessary. 
 
1. Enter amount (numeric entry 1 – 999999) 
2. Nil 
3. Loss 

 
 
 
 
 
 
 
 
Q202 
Ctrl R Q203 

Q201 Q202 
What period does that cover? 
 
1. Weekly 
2. Fortnightly 
3. Four weekly 
4. Monthly 
5. Quarterly 
6. Yearly 
7. Varies (text string 300 characters) 
8. Other (text string 300 characters) 

 
 
 
 
 
 
 
 
 
 
Q203 



 

 

SG065 = 2 
Q200 = 9 
Q201 = Crtl R 
Q202 

Q203 
Thinking about all members of this household 
(aged 15 years and over), what is your 
household’s current main source of income? 
 
Only show selected categories from Q190, Q195 
and Q200 
 
1. Wages or salary (including earnings from 

own incorporated business) 
2. Profit or loss from own (unincorporated) 

business or share in a partnership 
3. Paid Parental Leave (PPL) scheme 
4. Newborn Upfront Payment and Newborn 

Supplement 
5. Any other Government pension, benefit or 

allowance 
6. Dividends or interest 
7. Child support or maintenance 
8. Any other regular source 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Q205 

Q203 Q205 
Sector Code – Current main job (ARA) 

 
Q206 

Q205 Q206 
Sector Code – Pregnancy job (ARA) 

 
Q207 

Q206 Q207 
Sector Code – Post pregnancy job (ARA) 

 
Q208 

Q207 Q208 
Sector Code – Pregnancy job (partner) 

 
Q209 

Q208 Q209 
Sector Code – Post pregnancy job (partner) 



Q210 

Q209 Q210 
Sector Code – Current main job (partner) 



Q210

Q210 Q211 
Current job industry Code (ARA) 
 
Where industry code =  
PersonQre[*].LFOthDetWork.IndCode 









Q212

Q211 Q212 
Current job occupation Code (ARA) 
 
Where occupation code =  
PersonQre[*].LFOthDetWork.OccCode 









Q213

Q212 Q213 
Current job industry code (partner) 
 
Where industry code =  
PersonQre[*].LFOthDetWork.IndCode 









Q214

Q213 Q214 
Current job occupation code (partner) 
 
Where occupation code =  
PersonQre[*].LFOthDetWork.OccCode 









(No more questions) 

 


